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1. The basic purpose of a retarder in concrete 1s
A) To increase the initial setting time of cement paste in concrete.
B) To decrease the initial setting time of cement paste in concrete.
C) To render the concrete more water tight.
D) To improve the workability of concrete mix.
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2. Which of the following stresses is used for identifying the quality of structural steel?

A) Ultimate stress. B) Yield stress.
C) Proof stress. . D) None of the above.
3eNS alod FIa, FIOO° Leots heabygEn, rhhemes evBaleenToTys?
A) eoegsheer® Fewe. B) Bee® HS.
& ® &
C) Bex° go°. D) heess odre@e vg.
3. A mortar joint in masonry which is normal to the face of wall is known as
A) Bed joint. B) Wall joint.
C) Cross joint. D) Bonded joint.
BB deoceonlyy Bieess 08 derded roedr eaaadwa)mﬁdod‘ 20w FB30TT.
A) e3w® eSoedes. B) ripedd doeded.
C) zax° Bnemes. D) ereodee® doeres.
4. Strength of cement concrete primarily depends upon
A) Quality of water. ~ B) Quantity of aggregate.
C) Quantity of cement. D) Water-cement ratio.
QEHoLF Foogessd Byadn BBeh@aN 2E300283aNTRT.
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5. The type of bond provided in brick masonry for carrying heavy loads is

A) Single Flemish bond.
C) English bond.

B) Double Flemish bond.
D) Zigzag bond.

éaﬁg mddaﬁo& 36303303 'aa&gr% ésgzﬁcdg 28308 dreddod 95

A) dorie® Pewss drewes.
C) g0fem® dperdes.

B) Beee Beaozs dneded
D) esrFezore alneddes.

6. Which of the following methods is used to determine the area of an irregularly shaped

field in surveying ?

A) Trilateration B) Traverse

C) Photogrammetry D) Radial surveying
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7. Soundness of cement is tested by
A) Vicat's apparatus.

C) Broecdoe meedey D) SeB®ober 3¢

B) Le-chatelier apparatus.

C) Compressive strength testing apparatus. D) None of these.
200N FPowWITs eIy, Srerden adrbE TR

A) DEEF TP,
C) zeogaa® Fo® g Tors.

8. The main ingredients of Portland cement are

A) Lime and silica.
O) Silica and alumina.

Breeere R0n® WeHows FRva P
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9. In a mortar, the binding material is
A) Cement. B) Sand.

o3 0°Re Beerdod By
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B) Lime and alumina.
D) Lime and iron.

B) e4e° by eenaome.
D) &z sy edwe.

C) Surkhi. D) Cinder.

C) mose. D) »owdos.

10. The pigment used in paints for corrosive resistance, is

A) White lead.

A) gge° .

B) Ferrous oxide.
BT 33&3 ABRedTwon ¥B P
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C) Zinc white. D) Red lead.

C) 20%® 3. D) 3w 3.

11. The slump recommended for mass concrete is about

A) 25 mm to 50 mm.
C) 100 mm to 125 mm.

oot F00ZE9 e OB émd"’mm

A) 25 2080 oo 50 aueaw.
C) 100 &van owom 125 avaw.

12. The hardest rock is

A) Marble. B) Diamond.

B) 50 mm to 100 mm.
D) 125 mm to 150 mm.

B) 50 2v&n owom 100 suew.
D) 125 20&0 onod 150 sosw.

C) Talc. D) Quartz.
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A) Sreaees. B) =3=. C) eoet. D) sgese.
13. Lacquer is

A) Oil paint. B) Distemper. C) Spirit varnish. D) None of these.
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14. The steel used in R.C.C. work is

A) Stainless steel. B) Mild steel.

C) High carbon steel. D) Wrought iron.
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15. Workability of concrete is directly proportional to

A) Aggregate cement ratio. B) Time of transit.
C) Grading of the aggregate. D) All of above.
5003693 BoodE DTGBl Bedemen e ©oBw (PRERIcInlSlevicing
, A) O deHow® omes. B) moriedad e3ed.
C) edor® et & efjriecs. D) eess agyadpe.
16. The slab is designed as one way if the ratio of long span to short span is
A) Less than 1. B) Between 1 and 1.5.
C) Between 1.5 and 2. D) Greater than 2.
HTBDD eJosded &mqgﬁr&ragﬁaﬁ’eﬁdd eI90r® @an‘s HB) Tt @5&53 RO Y)
A) 208803 BBD. B) 2ot =@ 1.5 3 I
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17. The factor which affects the compaction, is
A) Moisture content. B) Compacting content.
C) Method of compaction. D) All the above.

[ FoowYFR® ee BOrezd 2edB W0oTwoN.
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18. The maximum compressive strength on 15 cm cubes of M 20 grade concrete at 7
days, should be a minimum of

A) 7 N/mm?2. B) 10 N/mm?2. C) 15 N/mm2.. D) 20 N/mm?2.
7 &3y F083 M20 Jer® 50083 15 &.00 Brgers (0g Tomes wow) BOF
esPdelem
A) 7 N/mm2. B) 10 N'mm2.  C) 15 N/mmZ2. D) 20 N/mm?2.
19. Bulking of sand is caused due to
A) Increase in moisture content. B) Air voids.
C) Viscosity. D) Clay contents.
=088 d 2gor® Fodte evoeIerhHIu.
A) Semoo3rey B B) mewod steesesericiso.

C) a3, D) sveds amodrith.



20. During leveling, if back sight is more than foresight
A) The forward staff is at lower point.
B) The back sight is at lower point.
C) The difference in level cannot be ascertained.
D) None of these.

Bleson® Bababde &odS Fyodn BeddwRhod BEET
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D) 'ama?saﬂ)cira ©e).
21. Spacing of stirrups in a rectangular beam is
A) Kept constant throughout the length.
B) Decreased towards the center of the beam.

C) Increased at the ends.
D) Increased at the center of the beam.

e30HT0T0E 3303 gdmﬁﬁé 0030
A) evgsr n;)daaﬁ 303e30H33.

B) #GQeed abcdrgepericﬁ 3@ FBHodTN.
C) Sdridy Bgg<swens.

D) #3003 abcjzgepaﬁdg BP.

22. The least bearing capacity of soil is that of

A) Hard rock. B) Moist clay. C) Soft rock. D) Coarse sandy soil.
ajasgd g Jedor® mabq%s@

A) fleg 203. B) Sewooza)g eleddedey.

C) @ytbeved 203, D) 2,8e3003 &b3eb sheay.

23. A manhole is generally provided at each
A) Bend. B) Junction.  C) Change of gradient. D) All of the above.
B3adeoBBR 2,00 wRpes® Wb, vowrerkmeN LENTEHIH.

A) oPivey. B) sog~®.
C) fe®odoer xderosies. D) sbeess wgyde.

24. The science which deals with the sound insulation in a building is knownas
A) Reverberation  B) Transmission C) Acoustic D) Air borne
3yEny GO AReFITR, HBBODS PP, 90w 330hoehIS.

A) B3gd B) &= C) oPgz® D) mesoword 8363

25. Cross slope provided across the road is called
A) Gradient. B) Camber. C) Superelevation. D) None of the above.

3303 0@eed .3NTeR F9T° Juesodd HOowd FG0DRHII
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26. The rate of rise or fall of a road along its alignment is known as
A) Gradient. B) Camber. C) Side slope. D) Superelevation.
@0 deedrdod suEER dBod 003 vFwe NIBH B, Bdaderrh 3
A) fJedodoer. B) sggoai0®. C) anod gyzed. D) evgH.

27. When the bed level of the canal is higher than the H.F.L. of drainage, then the cross
drainage work is said to be
A) Aqueduct. B) Super passage.
C) Canal syphon. D) Syphon aqueduct.

Foenasod &3 aiafg 5353031'1 Q235,00 eF. 2we3Tol, J033 eacg 2823008 FOT DO
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A) wgdzs. B) Rew@o® @mygdea®.
C) zoenal Bpa°. D) {5~ wgrs;.
28. The clear cover for a RCC beam is usually
A) 20mm. 'B)25mm. C) 30mm. D) 35mm.
RCC 3paiyr ggnwes 8530° wesedsaion Elevicin]
A) 20mm. B) 25mm. C) 30mm. D) 35mm.

29. The light weight concrete is prepared by
A) Mixing Portland cement with saw dust.

B) Using coke-breeze, slag as aggregate in the concrete.

C) Mixing Aluminjum in the concrete.

D) Mixing Iron in the concrete.

e}e3° Beer® ToOge® BRY BobedPen Te FBABEY CdTPRTRY, svmodeeNBITYV?
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B) Boes® ges® a3y Tggts QZeo.

C) wendnedodhad®s ogee.

D) @2d=*s o3ee.

30. “Vee Bee Consistometer test” is conducted for concrete to know its
A) Water cement ratio. B) Crushing strength.

C) Workability. D) Shrinkage rate.
Foogee® “de we TYVPeDeT” VoW Sy0dnd Gletotelale)
A) 9ed B edoeriy wbmes.  B) gdor® 33

C) Svecenests. D) zorjys3 e@80eece.
31. The compression in PSC is done by ~ ofhigh strength tendons.
A) Compression  B) Tensioning C) Shearing D) Bending

feg; Foogesr ), FOBRCT BIBATED BeI DORBET T,0d00eyriga, e 3O
0deRd)@3 wendTerhIu.
A) sogdx® B) e3=t@on® C) dadbdor® D) 3o&or®



32. With the increase in the Carbon content, the ductility of the steel will

A) Increase. B) Decrease. -

C) Not be affected. D) Difficult to tell.
BoRER® WOBHBRY, FoY BRBIRBOOR, YeeR BFesEs HHII?

A) Besarogas. B) 8@ebainrb3a.

C) o aﬂ‘gmqgﬁmrbzé)ag. D) o> éeéo‘orﬁcb.

33. In a Cantilever beam made of reinforced cement concrete, the reinforcement steel
should be at the,

A) Top of the section. B) Centre of the section.

C) Bottom of the section D) Anywhere.
TP Q.0 Tog0E9eesT° 29ec°Reg, e eRTTIBRY oides Periny w¥udTVoerhIN?
A) e’ sheessgerin. B) eeans Si6gemoricy.

C) eses0m 39errivy. D) 29eg0’ 0de@)memd grorixes.

34. Under reamed piles are generally,

A) Driven piles. B) Bored piles. ~ C) Precast piles. D) All the above.
worosdesPE® BHrith GIASCIMIACIE
A) @=3° BeS. B) edeerde e, C) & ToT3 e, D) e’ o).

35. The concrete cube size used for crushing strength is
A) 20 cms. B) 23 cms. C) 10 cms. D) 15 cms.
zoogens Byoday BOgeDeD WFW BuRgels vES,

A) 20 Boe. B) 23 Save. C) 10 B&we. D) 15 3ave.

36. Supporting working platform in building work is known as
A) Scaffolding. B) Formwork. C) Centring. D) Staging.

Zox sem@en Bu® TBeeseor® apesgesor se Ded BB3030390.
A) mpaieegort. B) posbe S5°¢. C) Soesdore. D) Peesor®.

37. The percentage of minimum reinforcement of the gross sectional area in slabs is
A) 0.10%. B) 0.12%. C) 0.15%. D) 0.18%.
90°.0.0 et IY BT BOrete BIH Be
A) 0.10%. B) 0.12%. C) 0.15%. D) 0.18%.

38. Correct order of the following layers from top to bottom is
1) Sub-base course 2) Base course
3) Wearing course 4) Sub-grade ,

A)3,1,4,2 B)3,2,1,4 C)3,2,4,1 D) 34,1,2
280003 shewd Fdrie [ $B03TeE VWL Be 2880808333,

1) Qexvele® JRTE 2) Bex® BRITE

3) edor® BITTE  4) S gew®

A)3,142 B) 3,2,1,4 C) 3,2,4,1 D) 3,4,1,2



39. The property of fresh concrete, in which the water in the mix tends to rise to the
surface while placing and compaction is called
A) Bleeding. B) Creep. C) Segregation. D) Shrinkage.
FO0ZEr® ), Tosvwer dorie B BreBwer Teoges Jeg DFNtHE Qeds
(¥etrn]r) 008 & daema)ridgg ower] S F3ASZ0I Fdadesorh g,

A) pedore. B) gews. C) 3rjriemws. D) 8o®ees,
40. pH value of water for quality concrete shall not be less than
A)2. B)4. C) 6. D) 12.
Fo0gEF* B rheozdesd edT @.cvess B8 ge B¥AZ0sTelen.
A)2. B) 4. C) 6. D) 12.
PART B

(For civil engineers only)
(52:md woRdohoonent =wg)

1. Define contour and characteristics of contour. 10
aaa&ngdead Dor3Besdh? eaaérzgdeai‘od) rbf‘augeariéd)& DIB®.

2. Distinguish between the following: - 10
A)Fore sight and intermediate sight. :
B)Check survey and detailed survey.
C) Grade beam and plinth beam.
D)Salvage value and scrap value.
E) Simple supported and cantilever beam.

FENIPYrY I3 dtg@ngﬁdd)a hdo3:

A)Brddg Sh®) w083 wyy.

B)Baved &3 o@tmes Janegodhay, BOdeess.
C)gew® evead aba) gosd eseatss.

D)moedeaze w@Pey BBy wpeae =3ey.

E) 33¢ Jomess b TYUOEIITIO° e,

3. Write down briefly about the following, 10
A) Workslip B) Final quantity variation C) Data rate
D) EMD E) SD
e YN[y ar} Jogxdwen exdond
A) S5%cgme B) wo&sh wows3 By C) woes Seese
D) g.00.6 E) eigee Be3es B3
4. Define RMC. What are the advantages of RMC? 10

80°%.00.0 Dorderd ? 805.00.8 o RDBROTBe)?



5. Draw the SF and BM diagrams for a simply supported beam subjected to the loads as
shown in figure 10

B8N 333 BeedItT Brerrivn weBydsE sog Jhoeeds eesdr®s SF a3y
BM Beare a38riga, edad.
30 K.N 10 K.N/'M 30K.N

6. Draft an office note from Superintending Engineer Elec to Chief Engineer Ele for
seeking approval to the Final quantity variation statement for the building constructed

with the following details: 10
A) Estimate cost : 25 Lakhs
B) Amount put to tender : 24.95 Lakhs

C) Accepted tender amount  : 28.15 Lakhs
D) Final variation as per actual : 30.29 Lakhs

0ReTs Q02Q0Do® (D) THD Eway [o@QoRT* (D) C=0oB o Ieled IWR
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A) womezn Begad &S : 25.00 ogrid
B) e30@0° 13 967eer B3 : 24.95 ozt
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